2 KD KB
[1] FiRKEE 22—
(1) EREERSEOHHBRE
O 1H1ARE GEEESE . mg/L)

FRAT S KA H TN /) N TR AT FrAx H TN 7/ N5
R4.4 0.32 0.28 0.29 R4.4 0.32 0.29 0.31
R4.5 0.33 0.27 0.29 R4.5 0.34 0.30 0.32
R4.6 0.31 0.27 0.28 R4.6 0.34 0.30 0.33
R4.7 0.33 0.27 0.29 R4.7 0.34 0.30 0.32
R4.8 0.34 0.28 0.32 R4.8 0.34 0.30 0.32
JARAR R4.9 0.30 0.28 0.28 i R4.9 0.34 0.29 0.31
1 (A2V—3R) R4.10 0.30 0.27 0.28 2 (7J<Jt/§¥) R4.10 0.32 0.30 0.31
A H R AT R R4.11 0.30 0.28 0.29 R R4.11 0.33 0.30 0.31
R4.12 0.32 0.28 0.29 R4.12 0.33 0.30 0.31
R5.1 0.32 0.30 0.30 R5.1 0.33 0.30 0.31
R5.2 0.31 0.28 0.30 R5.2 0.34 0.30 0.31
R5.3 0.31 0.29 0.29 R5.3 0.32 0.29 0.30
HERH 0.34 0.27 0.29 HERY 0.34 0.29 0.31
R4.4 0.33 0.30 0.31 R4.4 0.33 0.30 0.31
R4.5 0.34 0.30 0.32 R4.5 0.34 0.30 0.32
R4.6 0.34 0.31 0.33 R4.6 0.34 0.30 0.33
R4.7 0.34 0.30 0.31 R4.7 0.34 0.30 0.32
R4.8 0.33 0.29 0.31 R4.8 0.34 0.28 0.31
EIE 1 R4.9 0.32 0.30 0.30 R 2 R4.9 0.34 0.29 0.30
3 K 5 3%) R4.10 0.31 0.29 0.30 4 (7ki¥];¥) R4.10 0.31 0.29 0.30
e A AT S R4.11 0.31 0.30 0.30 R R4.11 0.32 0.28 0.30
R4.12 0.31 0.30 0.30 R4.12 0.32 0.29 0.30
R5.1 0.31 0.30 0.30 R5.1 0.31 0.30 0.30
R5.2 0.31 0.30 0.30 R5.2 0.33 0.30 0.31
R5.3 0.32 0.28 0.30 R5.3 0.32 0.28 0.30
] 0.34 0.28 0.31 ] 0.34 0.28 0.31
R4.4 0.34 0.30 0.33 R4.4 0.32 0.29 0.30
R4.5 0.34 0.31 0.32 R4.5 0.34 0.28 0.31
R4.6 0.34 0.30 0.32 R4.6 0.34 0.28 0.30
R4.7 0.34 0.30 0.32 R4.7 0.34 0.29 0.32
R4.8 0.34 0.30 0.32 R4.8 0.34 0.29 0.32
a1 R4.9 0.34 0.30 0.32 WE 2 R4.9 0.33 0.29 0.31
5 (i /AR R) R4.10 0.34 0.30 0.32 6 (4,579’;?4) R4.10 0.33 0.30 0.31
A H AT R R4.11 0.33 0.30 0.31 - R4.11 0.32 0.30 0.31
R4.12 0.33 0.30 0.31 R4.12 0.34 0.29 0.31
R5.1 0.32 0.30 0.31 R5.1 0.34 0.30 0.31
R5.2 0.34 0.30 0.32 R5.2 0.32 0.30 0.30
R5.3 0.32 0.29 0.30 R5.3 0.31 0.29 0.30
G 0.34 0.29 0.32 HERH 0.34 0.28 0.31

X1 AR ONEVIZOWTIE, BERL



2 fRKRROKE Mt
[1] FRKE R 2 —EN
(2) BYEF R UHIE R
@ Ttk (A2 —HKER)

£ 7K H R4.4.5 R4.5.11 R4.6.7 R4.7.5 R4.8.3 R4.9.6 R4.10.4 R4.11.9 R4.12.6 R5.1.18 R5.2.8 R5.3.7 SOUN B/ SEH
PN e il kil = 551 & 3 5 5 = 5 = 5 - - -
= =] (C) 11.5 15.0 17.0 21.0 27.0 22.3 19.8 11.0 7.1 4.5 5.5 8.8 27.0 4.5 14.2
7k =] (C) 13.5 16.0 18.0 19.2 23.0 20.2 17.8 17.0 15.0 12.0 11.5 12.1 23.0 11.5 16.3
— i i (1mLH) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
PN iz (MPN/100mL) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
I REIU AR QREZE O AEWD (mg/L) — — <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 <0.0003 <0.0003 <0.0003
KB K O 2 o &8 & W (mg/L) — — <0.00005 — — <0.00005 — — <0.00005 — — <0.00005 <0.00005 <0.00005 <0.00005
L Kk E O E W (mg/L.) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
th kK O o b & W (mg/L) — — <0.001 — — 0.002 — — <0.001 — — 0.002 0.002 <0.001 0.001
t F K O 2 O b A& W (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
AN Ofli o v A b A W (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
i fid fig: fe = F (mg/L) — — <0.004 — — <0.004 — — <0.004 — — <0.004 <0.004 <0.004 <0.004
T A A A e O A T v (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
YR ORE B OHE K OO RY MR RE & H (mg/L) — — 0.27 — — 0.33 — — 0.29 — — 0.24 0.33 0.24 0.28
7 v F K W E O A& W (mg/L) — — <0.08 — — <0.08 — — <0.08 — — <0.08 <0.08 <0.08 <0.08
U F K X ZE 0O /A& W (mg/L) — — 0.06 — — 0.05 — — 0.07 — — 0.08 0.08 0.05 0.07
| i) e R e (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
1,4~ 4 %+ e A N (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
TA-1,2-YranF L K NNT L A
12- ¥ 7 m g x F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
B 7 n 0 A K (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
F N % Z/ mouwu = F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
K'Y Y v omr x= F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
~ v + N (mg/L.) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
o) ES 73 (mg/L) <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 0.07 <0.06 <0.06 <0.06 0.07 <0.06 <0.06
7 = = WE [i73 (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
7 = = 7R JL A (mg/L) — — 0.0001 — — 0.0002 — — 0.0002 — — 0.0001 0.0002 0.0001 0.0002
4 7 = = 43 {73 (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
Y 7 m T J noua A K v (mg/L) — — 0.0004 — — 0.0004 — — 0.0004 — — 0.0003 0.0004 0.0003 0.0004
5 e fig (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
D A= I A (mg/L) — — 0.0009 — — 0.0010 — — 0.0011 — — 0.0008 0.0011 0.0008 0.0010
N A = = (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
7 v £ ¥V 7 nowu AKX v (mg/L) — — 0.0003 — — 0.0003 — — 0.0003 — — 0.0002 0.0003 0.0002 0.0003
7 = E N JL A (mg/L) — — 0.0001 — — 0.0001 — — 0.0002 — — 0.0002 0.0002 0.0001 0.0002
B o A7 v F kR (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
o &K O F 0o b A& W (mg/L) — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005 <0.005
TILVI=g Ak OXZF DOl EW (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
g K O x o b A& W (mg/L) — — 0.01 — — 0.02 — — 0.02 — — <0.01 0.02 <0.01 0.01
&k . o kb A& W (mg/L.) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
TRV AR N EOAAE W (mg/L) — — 10 — — 8.9 — — 12 — — 13 13 8.9 11
~ v H Uk E O AW (mg/L) — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005 <0.005
o e Y A Z N (mg/L) 5.0 4.8 4.9 5.0 4.8 4.4 4.6 5.1 5.0 5.4 5.5 5.4 5.5 4.4 5.0
VAN /A Sy N Qi) (mg/L) — — 110 — — 74 — — 120 — — 130 130 74 109
7K i Vb e i (mg/1.) — — 222 — — 182 — — 237 — — 275 275 182 229
e A4 F v K om & M A (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
DA - 7 s 3 N (mg/L) — — <0.000001 — — — — — — — — — — — <0.000001
2- A F ) A4V K I R F — b (mg/L) — — <0.000001 — — — — — — — — — — — <0.000001
¥ A4 A Fom & M A (mg/L) — — <0.005 <0.005 <0.005 — — <0.005 <0.005 <0.005 <0.005
7 - J — JL ¥A (mg/L) — — <0.0005 — — <0.0005 — — <0.0005 — — <0.0005 <0.0005 <0.0005 <0.0005
AW (& A KR FE TOC o &) (mg/L) <0.1 <0.1 0.1 <0.1 0.1 <0.1 <0.1 <0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1
p H fiE 7.5 7.3 7.4 7.4 7.4 7.0 6.9 7.4 7.2 7.3 7.3 7.3 7.5 6.9 7.3
S HEL HERL FERL FHERL HERL HERL HEL HERL HERL HERL HERL HERL — — FHERL
5 £ Bl FERL B B FHERL AL L B AL AL FERL Bl — — Bl
@, i () <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
] £ () 0.1 0.1 0.1 0.1 <0.1 <0.1 <0.1 <0.1 0.1 0.1 0.1 0.1 0.1 <0.1 <0.1
% o oy e (mg/L.) 0.3 0.2 0.2 0.2 0.2 0.2 0.2 0.3 0.2 0.3 0.3 0.3 0.3 0.2 0.2

cAREFEEFOMWHT (B <0.0001) 1%, A CE & FBRER) TCholzZ iR TWET,
AT () BREDOEMERAIRE/RIH B THY, D HIZITMAEEITO/R o=l em R~ TWET,




2 K OKEHRA
[1] FEtRAKE R 7 —E N
(2) BYEF R UHIERA
@O ol (2 —EK5ER)

£ K H R4.4.5 R4.5.11 R4.6.7 R4.7.5 R4.8.3 R4.9.6 R4.10.4 R4.11.9 R4.12.6 R5.1.18 R5.2.8 R5.3.7 TN /) N
Ty F LR OEOAEW (mg/L) — — <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 <0.0003 <0.0003 <0.0003
v 7 v kO FE O B A W (mg/L) — — <0.0002 — — <0.0002 — — <0.0002 — — <0.0002 <0.0002 <0.0002 <0.0002
= v Nk O E O AW (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
12- ¥ 7 w nu = X v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
~ JL - N (mg/L) — — <0.0001 — — <0.0001 — — 0.0002 — — 0.0001 0.0002 <0.0001 <0.0001
THEANLEEY (- F L ~F L) (mg/L) — — <0.001 — — — — — — — — — — — <0.001
il oy F i3 (mg/L) — — <0.06 — — <0.06 — — <0.06 — — <0.06 <0.06 <0.06 <0.06
Y s mu 7 & k=K1 (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
I A - . % (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
)i 3K HH — — <0.001 — — — — — — — — — — — <0.001
g i % 74 (mg/L) — — 5.6 — — — — — — — — — — — 5.6
,1,1- Y 7/ 5w x X v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
AF )L —t- 7 F )L = — F )L (MTBE) (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
B O W E (T O N ) <1 1 1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
@ g (7 7 U T i ) — — -0.9 — — — — — — — — — — — -0.9
7 & * # Al (ImLH") 4 3 4 3 6 0 2 2 2 0 2 1 6 0 2
11- ¥ 7 g g = F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
NVINFRFI B AVK ER(PFOS) K& T

NIV VERA A ER(PFOA) (mg/L) — — <0.000005 — — — — — — — — — — — <0.000005
o3 = {63 e i) (MPN/100mL) — — — — — — — — — — — — — — —
b % 8 B F B Rk = (mg/L) — — — — — — — — — — — — — — —
ok TR OB FEOE K& (mg/L) — — — — — — — — — — — — — — —
w 1% [i73 ES (mg/L) — — — — — — — — — — — — — — —
S %= F (mg/L) — — — — — — — — — — — — — — —
S ) > (mg/L) — — — — — — — — — — — — — — —
W M T (mg/L) — — — — — — — — — — — — — — —
e fift P Bk (mg/L) — — — — — — — — — — — — — — —
v - JL 2 e (MPN/L) — — — — — — — — — — — — — — —
i B P 3F i) (MPN/L) — — — — — — — — — — — — — — —
#OfE M o fH O EK (MPN/100mL.) — — — — — — — — — — — — — — —
7 v ' = 7 & # # (mg/L) — — — — — — — — — — — — — — —
7 JL Va % UN (mg/L) — — 30 — — — — — — — — — — — 30
< 7 % > 7 UN (mg/L) — — 7.6 — — — — — — — — — — — 7.6
fit 73 A + v (mg/L) — — 65 — — 48 — — 73 — — 90 90 48 69
i e fig A % e (mg/L) — — — — — — — — — — — — — — —
A= S - A - (mg/L) — — — — — — — — — — — — — — —
w7 v n Y E (mg/L) — — 54 — — — — — — — — — — — 54
5 = I i R (mS/m) 36.2 26.1 27.3 29.3 28.7 20.1 20.2 28.2 29.3 32.9 34.4 33.4 36.2 20.1 28.8

ARFEFOMWEF (B <0.0001) 13, A H GE & T IRIEART) TholeZeaRLTWET,
AT () BRAEDOEWNATRERIEH THY, £ D BT EZAT DR Te 2L RL TV ET,




2 KKK OKEKA
[1] FiRKER 2 —EN

(2) EbS M Ol TR R AT
@O JeHtR (XU KGR)

£ 7K H R4.6.7

= ~ = A 2 (mg/L) <0.000005
=4 5 7 = = JL (mg/L) <0.0001
vz Y X v X 7 oz (mg/L) <0.00001
I )R = (BT L — 1) (mg/L) <0.0001
vy X 7 = v F F v (mg/L) <0.00001
=4 ) 7 ei V) JL 7 (mg/L) <0.0001
= H x H > (mg/L) <0.0001
7 ~ -7 = = JL (mg/L) <0.000005
7 = = k v F F v (MEP) (mg/L) <0.0001
7 = J 7 J ) 7 (BPMQ) (mg/1.) <0.0001
7 - i A A N (mg/L) <0.0001
7 - > F A v (MPP) (mg/L) <0.00005
7 =« v F = — ~ (PAP) (mg/L) <0.00005
v - Vg ~ 7 va N K (mg/L.) <0.0001
7 VA 7 A K (mg/L) <0.0001
7 vl J = — % (mg/L) <0.0001
7 vl N Z 2 (mg/L) <0.0001
7 7 = 7 - % N (mg/L) <0.0001
7 JL 7 D A A (mg/L) <0.0001
7 v F 7 J wm = )b (mg/L) <0.0001
7 = D N R v (mg/L) <0.0001
v = F % Z A (mg/L) <0.00001
7 v ¥ o F = )L (mg/L) <0.0001
7 = = VA N K (mg/L) <0.0001
- = ~ J ) — JL (mg/L) <0.0002
7 = * 7 el R (mg/L) <0.0001
~ J 2 JL (mg/L.) <0.0002
~ N v v = N (mg/L) <0.0001
A - A - (mg/L) <0.0001
N T ey (mg/L) <0.00005
~ N vl > N (mg/L) <0.0001
A A G S A B (mg/L) <0.0001
~ v 7 7 7 )L 7 (mg/L) <0.0001
N7 5y ( R 2a Y ) (mg/L) <0.0001
~ N 7 L + — k (mg/L) <0.0001
i A F 7 + — ~ (mg/L) <0.00005
~ 7 F 4 v (<= F 2 v ) (mg/L) <0.0001
= A v 7 (MCPP) (mg/L) <0.0001
A v N JL (mg/L) <0.0001
A 4 7 s g JL (mg/L.) <0.0001
A F KX F A v (DMTP) (mg/L) <0.00001
A b I ) A2 bk wm ¥ v (mg/L) <0.0001
A b ) 7 Y N (mg/L) <0.0001
A 7 - A + > ~ (mg/L) <0.0001
A - = = JL (mg/L) <0.0001
E i s — ~ (mg/L) <0.00005

£ 7K H R4.6.7
13- Y "7 w7 " uw ~"° v (DD (mg/L) <0.0001
2,2-DPA( Zd 7 Zi v ) (mg/L) <0.0004
2,4-D(2,4-PA) (mg/L) <0.0001
EPN (mg/L) <0.00001
MCPA (mg/L.) <0.00005
7 v = 7 N (mg/L) <0.0001
7 + - - — ~ (mg/L) <0.00005
7 b 7 Y N (mg/L) <0.0001
7 = = AN A (mg/L) <0.00001
7 2 ~ 7 = (mg/L) <0.00005
7 7 7 = — JL (mg/L) <0.0001
A >V F VA 7 %+ N (mg/L) <0.00005
A V % - N ZD 2 (mg/L) <0.00001
A4 Y 7 v H 7  (MIPC) (mg/L) <0.0001
A4 Y 7 v F F Z v (P (mg/L) <0.0001
A 7 ° 7 = v h VvV N )Ty (mg/L) <0.00001
A4 7 v X v &k A (IBP) (mg/L) <0.0001
A N v / 7 7 N (mg/L) <0.00005
- 2 - o 7 JL v (mg/L) <0.0001
-~ N 7 = v 7 o v 7 R (mg/L) <0.0001
T LU RANL T (RN ) ) (mg/L) <0.0001
A A - B . (mg/L) <0.0001
A X v v M (H B ) (mg/L) <0.0001
) R N | (mg/L) <0.0001
Vol z VA zp A (mg/L) <0.000005
B 7 = v Ak v — JL (mg/L) <0.00005
Vil 1% A ) % ( NAC) (mg/L) <0.0001
Vil N R 7 Z N (mg/L) <0.000003
¥ / 7 7 D v (ACN) (mg/L) <0.00005
X Y 7 v N (mg/L) <0.0001
J 2 JL = N (mg/L) <0.0001
7 = A 7 = > 7 (mg/L) <0.0001
7 m ) = Kk m 7 = > (CNP) (mg/L) <0.000005
J = % [ j ZD A (mg/L) <0.00001
7 m wu X nu = ) (TPN) (mg/L) <0.0001
D4 7 A D4 N (mg/L) <0.00001
v 7 VA ( CYAP) (mg/L) <0.00001
% 7 = N ( DCMU) (mg/L) <0.0001
Y 7 2w X = )L (DBN) (mg/L) <0.0001
Y 7 m g & =% (DDVP) (mg/L.) <0.00005
ALK RL(ZF L F A ARV (mg/L) <0.00001
% 7 7 = % (mg/L) <0.00005
AN - I A A % (mg/L) <0.00005
3 ~ % N (CAT) (mg/L) <0.00001
P A v A ~ Y N (mg/L) <0.0001
DX A ~ = — h (mg/1.) <0.0001
D4 A b~ ) v (mg/L) <0.0001
vl A 7 Y J v (mg/L) <0.00001
A 4 A = N (mg/L) <0.0001
7 7 4 = % (mg/L) <0.0001
va v 7 A (mg/L) <0.0002
¥ Zn Y il JL 7 (mg/L) <0.0001
F 4 7 7 X — kN A F (mg/L) <0.0001
7 %+ ~ N i JL 7 (mg/L) <0.0001
> 7 2V o s UV F v (mg/L.) <0.00001
> v 7  J ) 7  (MBPMQ) (mg/L) <0.0001
~ Y 7 = = JL (mg/L) <0.00005
KU 7 w & v ( DEP ) (mg/L) <0.00005
N A . % (mg/L) <0.0001
~ i 7 JL =7 ) > (mg/L) <0.0001
A 7 = 2% 2 N (mg/L) <0.0001




2 KKK OKEKA
[1] FiRKER 2 —EN
(2) BYLZ R OHFE R

D TR AX)—HEKER)

£ 7K H R4.6.7

KU ox ¥ ¥ R vy o F O (mg/L) <0.0001
kU 7 o Y — L (mg/L) <0.0001
+ 7 = 7 = ) K (mg/L) <0.0001
= Va % =4 5 A (mg/L) <0.0001
N oowm 7 b Z Y — (mg/L.) <0.0001
=4 A b = % N (mg/L) <0.0001
vz v X ) 7 a v x F ) (mg/L.) <0.0001
vy X Ny AT (mg/L) <0.0001
¥y I K A X F g (mg/L) <0.0001
7 7 A ~ = JL (mg/1.) <0.0001
7 % 7 % gz > 7 (mg/L) <0.0001
7 a R = ( DCPA) (mg/L) <0.0001
i i A R A (mg/L.) <0.00001
7 v X ¥ v b (BPPS (mg/L.) <0.0001
7 wm K X Z J  (PHO) (mg/L) <0.0001
7 = A b~ J N (mg/L) <0.0001
A S G S B (mg/L) <0.00005
Zp X > A (mg/L) <0.00001
i 2 i i R (mg/L) <0.0001
£ J 7 = ~ D 2 (mg/L) <0.00001
) = E = N (mg/L) <0.0001

(mg/L)

7 X ¥ Xk m B v (mg/L) <0.0001
- 5 4+ 7 =x ¥ k& A (EDDP) (mg/L) <0.00005
TRy T — (= ra XY — L) (mg/L) <0.00001
il v A =i A 2 N (mg/L) <0.0001
VA = =i 3 - (mg/L.) <0.0001
v 7 = = N (mg/L) <0.0001
A = JL 7 = — JL (mg/L.) <0.0001
kv 7 o owm kK A X F L (mg/L) <0.0001
A= A = A T . % (mg/L.) <0.0001
= 7 - J > 7 A (mg/L) <0.0001
vy 7 v X v 7 =z vV (mg/L) <0.0001
7 7 ¥ =z v 7 ua v (mg/L) <0.0001
7 JL ~ 5 = I (mg/L) <0.0001
~ v A ) R ( SAP) (mg/L) <0.0001
N v X ) 7 owm v A F ) (mg/L) <0.0001
i + F % (mg/L) <0.0004
F I . A A S N - TV (mg/L) <0.0001
kv 7 v ARATF LA X (mg/L) <0.0001
7 x va 4 7 ' N (mg/L) <0.0001
- N % (mg/L) <0.0001
kY)Y 7oL -2-7 hF vz F )L (mg/L) <0.0001
= ~ = 4 - v (NIP) (mg/1.) <0.0001
- o % > N (mg/L) <0.0001
- 4 ~ ® U x — k (mg/L) <0.0001

£ 7K H R4.6.7

EPN 7 X >V N (mg/L) <0.00001
A4 Y ® ¥ F A v F F J v (mg/L) <0.00001
A J 7 = vV K A F F YV v (mg/L) <0.000005
- v K 2 N 7 = — ] (mg/L) <0.0001
c N P - 7 I 7 K (mg/L) <0.000005
J v Jb ¥ U s A F F Vv (mg/L) <0.00001
i A A A . (mg/L) <0.00001
7 . = +twu FF v FFx T (mg/L) <0.00005
MPP A JL gz X e K (mg/L) <0.00005
MPP 2 JL i N (mg/L) <0.00005
MPP B X >V N (mg/L) <0.00005
MPP 4+ ¥ YV v Z2 )L &K % ¥ R (mg/L) <0.00005
MPP 4+ % Y v X JL K vV (mg/L) <0.00005
7 2 I K A F X v v (mg/L.) <0.0001
7 na F F Kk A F F OV v (mg/L) <0.00001
7 v ® J F K F 7 v % (mg/L) <0.0001
~ 7 F F K F v (mg/L) <0.0001

(mg/L.)
7 + vl R 7 ) K (mg/L) <0.0001
4 X ¥ 7 wm 7 J K (mg/L) <0.0001
A - = v 7 N (mg/L) <0.0001
7 7 = 7 > — JL (mg/L) <0.0001
= 7 Z = N 2 (mg/L) <0.0001
7 g A g 7 5y I R (mg/L) <0.00001
7 = ~ D4 JL (mg/L) <0.0001
~ v ~ X A > N (mg/L) <0.0002
an W+ = N (mg/L) <0.00005
A b~ 7 J = — JL (mg/L) <0.0001
(mg/L.)

7 v X Z )b =S A F )L (mg/L) <0.0001
7 A b~ J N (mg/L) <0.0001
A + ~ N 7 4 K (mg/L) <0.0001
A4 ~ Y A 7 wa v (mg/L) <0.0001
vy = . S J = N P (mg/L) <0.0001
- N ¥ ¥ A A 7 v v (mg/L) <0.0001
T ~ ~ N A = N (mg/L) <0.0001
T A A . )% (mg/L) <0.0001
7 X VA R % (mg/L) <0.0001
> ¥ 0o K v S T F (mg/L.) <0.0001
7 mi 7 7 = 2 NG (mg/L) <0.0001
sy v 2~ 7 = ) ¥ K (mg/L.) <0.0001
7 v v X — )L ¥ A F )L (TCTP) (mg/L) <0.0001
J v v ¥ U ks AR A F (mg/L) <0.0001
Y 7 m 7 = v F F v (ECP) (mg/L) <0.00005
% 7 = A % N (mg/L) <0.0001
v 7 v 2 7 v v 7 (mg/L) <0.0001
T J A JL 7 = N (mg/L) <0.0001
4 J ya 7 =7 N (mg/L) <0.0001
Yy 7 = J a F J = )L (mg/L) <0.0001
Y 7 )L VD~ S = B2 (mg/L) <0.0001
DA - - . % (mg/L) <0.0001
v -7 = v = JL (mg/L) <0.0001
% 2 = + A — I (mg/L) <0.0001
AT Y A A (mg/L) <0.0001
¥ A = ~ L — k (mg/L.) <0.00001
> 7 7 ) F Tz (mg/L) <0.0001
D4 v A 7 i N (mg/L) <0.0001
7 7 7 = -7 ) N (mg/L) <0.0001
7 7 A b X VA N (mg/L) <0.0001
7 7 JV va 2 K (mg/L.) <0.0001
> F 7 7 v L ¥ v & A (CVMP) (mg/L) <0.0001
> 5 3 > Y — (mg/L) <0.0001
7 7 7 - J D4 K (mg/L) <0.0001




2 fRKRROKE Mt
[1] FRKE R 2 —EN
(2) BYEF R UHIEMRA
@ Al G /AR KRS R)

£ 7K H R4.4.5 R4.5.11 R4.6.7 R4.7.5 R4.8.3 R4.9.6 R4.10.4 R4.11.9 R4.12.6 R5.1.18 R5.2.8 R5.3.7 SOUN B/ SEH
PN e il kil = = & & 5 5 = = = T - - -
= =] (C) 14.0 16.0 16.0 21.3 29.0 24.2 22.0 16.0 7.2 7.0 6.0 12.0 29.0 6.0 15.9
7k =] (C) 12.5 13.0 15.4 19.0 20.0 20.0 19.0 12.0 13.2 11.0 9.5 9.5 20.0 9.5 14.5
— i i (1mLH) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
PN 1 (MPN/100mL) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
I REIU AR QREZE O AEWD (mg/L) — — <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 <0.0003 <0.0003 <0.0003
KB K O 2 o &8 & W (mg/L) — — <0.00005 — — <0.00005 — — <0.00005 — — <0.00005 <0.00005 <0.00005 <0.00005
L Kk E O E W (mg/L.) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
th kK O o b & W (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
t F K O 2 O b A& W (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
AN Ofli o v A b A W (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
i fid fig: fe = F (mg/L) — — <0.004 — — <0.004 — — <0.004 — — <0.004 <0.004 <0.004 <0.004
T A A A e O A T v (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
YR ORE B OHE K OO RY MR RE & H (mg/L) — — 0.42 — — 0.41 — — 0.41 — — 0.42 0.42 0.41 0.42
7 v F K W E O A& W (mg/L) — — <0.08 — — <0.08 — — <0.08 — — <0.08 <0.08 <0.08 <0.08
v F K O E O AW (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
| i) e R e (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
1,4~ 4 %+ e A N (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
TA-1,2-YranF L K NNT L A
12- ¥ 7 m g x F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
B 7 n 0 A K (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
F N % Z/ mouwu = F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
K'Y Y v omr x= F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
~ v + N (mg/L.) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
o) ES 73 (mg/L) <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06
7 = = WE [i73 (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
7 = = 7R JL A (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
4 7 = = 43 {73 (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
Y 7 m T J noua A K v (mg/L) — — 0.0004 — — 0.0002 — — 0.0002 — — 0.0002 0.0004 0.0002 0.0003
5 e fig (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
D A= I A (mg/L) — — 0.0008 — — 0.0004 — — 0.0005 — — 0.0005 0.0008 0.0004 0.0006
N A = (=S (O (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
7 v £ ¥V J vowu A X v (mg/L) — — 0.0002 — — 0.0001 — — 0.0002 — — 0.0001 0.0002 0.0001 0.0002
7 = E Z JL A (mg/1.) — — 0.0002 — — 0.0001 — — 0.0002 — — 0.0002 0.0002 0.0001 0.0002
K v A 7 A F B K (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
o &K O F 0o b A& W (mg/L) — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005 <0.005
TILVI=g Ak OXZF DOl EW (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
% X O o b A& W (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
&k . o kb A& W (mg/L.) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
TRV AR N EOAAE W (mg/L) — — 5.7 — — 5.7 — — 5.8 — — 5.6 5.8 5.6 5.7
~ v H Uk E O AW (mg/L) — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005 <0.005
o e Y A 7 N (mg/L) 3.2 3.5 3.5 3.5 3.5 3.5 3.5 3.5 3.4 3.5 4.5 3.5 4.5 3.2 3.6
VA RN SN Q) (mg/L) — — 66 — — 65 — — 67 — — 66 67 65 66
7K i Vb o W (mg/1.) — — 124 — — 129 — — 125 — — 130 130 124 127
e A4 F v K om & M A (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
DA - 7 s 3 N (mg/L) — — <0.000001 — — — — — — — — — — — <0.000001
2- A F ) A4V K I R F — b (mg/L) — — <0.000001 — — — — — — — — — — — <0.000001
¥ A4 A Fom & M A (mg/L) — — <0.005 <0.005 <0.005 — — <0.005 <0.005 <0.005 <0.005
7 - J — JL ¥A (mg/L) — — <0.0005 — — <0.0005 — — <0.0005 — — <0.0005 <0.0005 <0.0005 <0.0005
AW (& A KR FE TOC o &) (mg/L) <0.1 <0.1 0.1 <0.1 0.1 <0.1 <0.1 <0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1
p H fiE 7.8 7.8 7.7 7.7 7.7 7.7 7.8 7.8 7.8 7.8 7.7 7.8 7.8 7.7 7.8
S HEL HERL FERL FHERL HERL HERL HEL HERL HERL HERL HERL HERL — — FHERL
5 £ Bl FERL B B FHERL AL L B AL AL FERL Bl — — Bl
@, i () <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
] £ () 0.1 0.1 0.1 0.1 <0.1 <0.1 <0.1 <0.1 0.1 0.1 0.1 0.1 0.1 <0.1 <0.1
% o oy e (mg/L.) 0.3 0.3 0.2 0.2 0.2 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.2 0.3

cAREFEEFOMWHT (B <0.0001) 1%, A CE & FBRER) TCholzZ iR TWET,
AT () E RAEDOEMN A RE/RIAH THY ., ZO BIZIIMEEITDOR o722 H R TWVET,




2 fRKRROKE Mt
[1] FEtRAKE R 7 —E N

(2) BLF M ONHE B e A
@ AR (5 AR E KRS R)

£ K H R4.4.5 R4.5.11 R4.6.7 R4.7.5 R4.8.3 R4.9.6 R4.10.4 R4.11.9 R4.12.6 R5.1.18 R5.2.8 R5.3.7 TN /) N

T FEUCRERXZEONEWY (mg/L) — — <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 <0.0003 <0.0003 <0.0003
v 7 v kO ZE O A W (mg/L) — — <0.0002 — — <0.0002 — — <0.0002 — — <0.0002 <0.0002 <0.0002 <0.0002
= v Nk O E O AW (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
12- ¥ 7 w nu = X v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
k JL - N (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
THENLEY (2= F L ~F L) (mg/L) — — <0.001 — — — — — — — — — — — <0.001
il oy F i3 (mg/L) — — <0.06 — — <0.06 — — <0.06 — — <0.06 <0.06 <0.06 <0.06
Y s m w7 & k=KUY L (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
ook v o ow 53— L (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
i $ GE| — — <0.001 — — — — — -~ — — — — — <0.001
g i % 74 (mg/L) — — 1.7 — — — — — — — — — — — 1.7
L,I- Y 7 v omw x X v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
AF )L —t- 7 F )L = — F )L (MTBE) (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
B O W E (T O N ) <1 1 1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
@ g (7 7 U T i ) — — -0.9 — — — — — — — — — — — -0.9
e & g # Al (ImLH") 12 15 9 16 10 18 18 24 2 4 7 3 24 2 12
11- ¥ 7 g g = F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
NI VAR B AN R BE(PFOS) e OY

NSV T VA u ks 4 v B (PFOA) (mg/L) — — <0.000005 — — — — — — — — — — — <0.000005
o3 = P EE il (MPN/100mL) — — — — — — — — — — — — — — —
b % 8 B F B Rk = (mg/L) — — — — — — — — — — — — — — —
ok TR OB FEOE K& (mg/L) — — — — — — — — — — — — — — —
w 1% [i73 ES (mg/L) — — — — — — — — — — — — — — —
e = # (mg/L) — — — — — — — — — — — — — — —
4 D, v (mg/L) — — — — — — — — — — — — — — —
W M T (mg/L) — — — — — — — — — — — — — — —
T fift {2 & (mg/L) — — — — — — — — — — — — — — —
v - JL > 2 (MPN/L) — — — — — — — — — — — — — — —
it = 12 3 il (MPN/L) — — — — — — — — — — — — — — —
OO M fH B (MPN/100ml.) — — — — — — — — — — — — — — —
7 v ® = T B = # (mg/L) — — — — — — — — — — — — — — —
7 Jb DV % U (mg/L) — — 20 — — — — — — — — — — — 20
< v S a v UA (mg/L) — — 3.7 — — — — — — — — — — — 3.7
fit 73 A + v (mg/L) — — 22 — — 22 — — 22 — — 23 23 22 22
VA S S S (mg/L) — — - — — — — — — — — - — — —
AN - N S A - (mg/L) — — — — — — — — — — — — — — —
B 7 v 7 ) BE (mg/L) — — 49 — — — — — — — — — — — 49
5 = I i R (mS/m) 15.3 15.1 16.1 16.2 16.1 16.1 16.2 16.2 16.2 16.2 19.7 16.3 19.7 15.1 16.3

ARFEFOMWEF (B <0.0001) 13, A H GE & T IRIEART) TholeZeaRLTWET,
AT () BRAEDOEWNATRERIEH THY, £ D BT EZAT DR Te 2L RL TV ET,
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£ 7K H R4.6.7

= ~ = A 2 (mg/L) <0.000005
=4 5 7 = = JL (mg/L) <0.0001
vz Y X v X 7 oz (mg/L) <0.00001
I )R = (BT L — 1) (mg/L) <0.0001
vy X 7 = v F F v (mg/L) <0.00001
=4 ) 7 ei V) JL 7 (mg/L) <0.0001
= H x H > (mg/L) <0.0001
7 ~ -7 = = JL (mg/L) <0.000005
7 = = k v F F v (MEP) (mg/L) <0.0001
7 = J 7 J ) 7 (BPMQ) (mg/1.) <0.0001
7 - i A A N (mg/L) <0.0001
7 - > F A v (MPP) (mg/L) <0.00005
7 =« v F = — ~ (PAP) (mg/L) <0.00005
v - Vg ~ 7 va N K (mg/L.) <0.0001
7 VA 7 A K (mg/L) <0.0001
7 vl J = — % (mg/L) <0.0001
7 vl N Z 2 (mg/L) <0.0001
7 7 = 7 - % N (mg/L) <0.0001
7 JL 7 D A A (mg/L) <0.0001
7 v F 7 J wm = )b (mg/L) <0.0001
7 = D N R v (mg/L) <0.0001
v = F % Z A (mg/L) <0.00001
7 v ¥ o F = )L (mg/L) <0.0001
7 = = VA N K (mg/L) <0.0001
- = ~ J ) — JL (mg/L) <0.0002
7 = * 7 el R (mg/L) <0.0001
~ J 2 JL (mg/L.) <0.0002
~ N v v = N (mg/L) <0.0001
A - A - (mg/L) <0.0001
N T ey (mg/L) <0.00005
~ N vl > N (mg/L) <0.0001
A A G S A B (mg/L) <0.0001
~ v 7 7 7 )L 7 (mg/L) <0.0001
N7 5y ( R 2a Y ) (mg/L) <0.0001
~ N 7 L + — k (mg/L) <0.0001
i A F 7 + — ~ (mg/L) <0.00005
~ 7 F 4 v (<= F 2 v ) (mg/L) <0.0001
= A v 7 (MCPP) (mg/L) <0.0001
A v N JL (mg/L) <0.0001
A 4 7 s g JL (mg/L.) <0.0001
A F KX F A v (DMTP) (mg/L) <0.00001
A b I ) A2 bk wm ¥ v (mg/L) <0.0001
A b ) 7 Y N (mg/L) <0.0001
A 7 - A + > ~ (mg/L) <0.0001
A - = = JL (mg/L) <0.0001
E i s — ~ (mg/L) <0.00005

£ 7K H R4.6.7
13- Y "7 w7 " uw ~"° v (DD (mg/L) <0.0001
2,2-DPA( Zd 7 Zi v ) (mg/L) <0.0004
2,4-D(2,4-PA) (mg/L) <0.0001
EPN (mg/L) <0.00001
MCPA (mg/L.) <0.00005
7 v = 7 N (mg/L) <0.0001
7 + - - — ~ (mg/L) <0.00005
7 b 7 Y N (mg/L) <0.0001
7 = = AN A (mg/L) <0.00001
7 2 ~ 7 = (mg/L) <0.00005
7 7 7 = — JL (mg/L) <0.0001
A >V F VA 7 %+ N (mg/L) <0.00005
A V % - N ZD 2 (mg/L) <0.00001
A4 Y 7 v H 7  (MIPC) (mg/L) <0.0001
A4 Y 7 v F F Z v (P (mg/L) <0.0001
A 7 ° 7 = v h VvV N )Ty (mg/L) <0.00001
A4 7 v X v &k A (IBP) (mg/L) <0.0001
A N v / 7 7 N (mg/L) <0.00005
- 2 - o 7 JL v (mg/L) <0.0001
-~ N 7 = v 7 o v 7 R (mg/L) <0.0001
T LU RANL T (RN ) ) (mg/L) <0.0001
A A - B . (mg/L) <0.0001
A X v v M (H B ) (mg/L) <0.0001
) R N | (mg/L) <0.0001
Vol z VA zp A (mg/L) <0.000005
B 7 = v Ak v — JL (mg/L) <0.00005
Vil 1% A ) % ( NAC) (mg/L) <0.0001
Vil N R 7 Z N (mg/L) <0.000003
¥ / 7 7 D v (ACN) (mg/L) <0.00005
X Y 7 v N (mg/L) <0.0001
J 2 JL = N (mg/L) <0.0001
7 = A 7 = > 7 (mg/L) <0.0001
7 m ) = Kk m 7 = > (CNP) (mg/L) <0.000005
J = % [ j ZD A (mg/L) <0.00001
7 m wu X nu = ) (TPN) (mg/L) <0.0001
D4 7 A D4 N (mg/L) <0.00001
v 7 VA ( CYAP) (mg/L) <0.00001
% 7 = N ( DCMU) (mg/L) <0.0001
Y 7 2w X = )L (DBN) (mg/L) <0.0001
Y 7 m g & =% (DDVP) (mg/L.) <0.00005
ALK RL(ZF L F A ARV (mg/L) <0.00001
% 7 7 = % (mg/L) <0.00005
AN - I A A % (mg/L) <0.00005
3 ~ % N (CAT) (mg/L) <0.00001
P A v A ~ Y N (mg/L) <0.0001
DX A ~ = — h (mg/1.) <0.0001
D4 A b~ ) v (mg/L) <0.0001
vl A 7 Y J v (mg/L) <0.00001
A 4 A = N (mg/L) <0.0001
7 7 4 = % (mg/L) <0.0001
va v 7 A (mg/L) <0.0002
¥ Zn Y il JL 7 (mg/L) <0.0001
F 4 7 7 X — kN A F (mg/L) <0.0001
7 %+ ~ N i JL 7 (mg/L) <0.0001
> 7 2V o s UV F v (mg/L.) <0.00001
> v 7  J ) 7  (MBPMQ) (mg/L) <0.0001
~ Y 7 = = JL (mg/L) <0.00005
KU 7 w & v ( DEP ) (mg/L) <0.00005
N A . % (mg/L) <0.0001
~ i 7 JL =7 ) > (mg/L) <0.0001
A 7 = 2% 2 N (mg/L) <0.0001




2 KKK OKEKA
[1] FiRKER 2 —EN
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£ 7K H R4.6.7

KU ox ¥ ¥ R vy o F O (mg/L) <0.0001
kU 7 o Y — L (mg/L) <0.0001
+ 7 = 7 = ) K (mg/L) <0.0001
= Va % =4 5 A (mg/L) <0.0001
N oowm 7 b Z Y — (mg/L.) <0.0001
=4 A b = % N (mg/L) <0.0001
vz v X ) 7 a v x F ) (mg/L.) <0.0001
vy X Ny AT (mg/L) <0.0001
¥y I K A X F g (mg/L) <0.0001
7 7 A ~ = JL (mg/1.) <0.0001
7 % 7 % gz > 7 (mg/L) <0.0001
7 a R = ( DCPA) (mg/L) <0.0001
i i A R A (mg/L.) <0.00001
7 v X ¥ v b (BPPS (mg/L.) <0.0001
7 wm K X Z J  (PHO) (mg/L) <0.0001
7 = A b~ J N (mg/L) <0.0001
A S G S B (mg/L) <0.00005
Zp X > A (mg/L) <0.00001
i 2 i i R (mg/L) <0.0001
£ J 7 = ~ D 2 (mg/L) <0.00001
) = E = N (mg/L) <0.0001

(mg/L)

7 X ¥ Xk m B v (mg/L) <0.0001
- 5 4+ 7 =x ¥ k& A (EDDP) (mg/L) <0.00005
TRy T — (= ra XY — L) (mg/L) <0.00001
il v A =i A 2 N (mg/L) <0.0001
VA = =i 3 - (mg/L.) <0.0001
v 7 = = N (mg/L) <0.0001
A = JL 7 = — JL (mg/L.) <0.0001
kv 7 o owm kK A X F L (mg/L) <0.0001
A= A = A T . % (mg/L.) <0.0001
= 7 - J > 7 A (mg/L) <0.0001
vy 7 v X v 7 =z vV (mg/L) <0.0001
7 7 ¥ =z v 7 ua v (mg/L) <0.0001
7 JL ~ 5 = I (mg/L) <0.0001
~ v A ) K ( SAP) (mg/L) <0.0001
N v X ) 7 owm v A F ) (mg/L) <0.0001
i + F % (mg/L) <0.0004
F I . A A S N - TV (mg/L) <0.0001
kv 7 v ARATF LA X (mg/L) <0.0001
7 x va 4 7 ' N (mg/L) <0.0001
- N % (mg/L) <0.0001
kY)Y 7oL -2-7 hF vz F )L (mg/L) <0.0001
= ~ = 4 - v (NIP) (mg/1.) <0.0001
v o A > NG (mg/L) <0.0001
- 4 ~ ® U x — k (mg/L) <0.0001

£ 7K H R4.6.7

EPN 7 X >V N (mg/L) <0.00001
A4 J X ¥ F 4 v F X Vv (mg/L) <0.00001
A J 7 = vV K A F F YV v (mg/L) <0.000005
- v K 2 N 7 = — ] (mg/L) <0.0001
c N P - 7 I 7 K (mg/L) <0.000005
J v Jb ¥ U s A F F Vv (mg/L) <0.00001
i A A A . (mg/L) <0.00001
7 . = +twu FF v FFx T (mg/L) <0.00005
MPP A JL gz X e K (mg/L) <0.00005
MPP 2 JL i N (mg/L) <0.00005
MPP B X >V N (mg/L) <0.00005
MPP #+ &% Y v X JL & ¥ ¥ R (mg/L) <0.00005
MPP 4+ % Y v X JL K vV (mg/L) <0.00005
7 2 I K A F X v v (mg/L.) <0.0001
7 na F F Kk A F F OV v (mg/L) <0.00001
7 v ® J F K F 7 o F (mg/L) <0.0001
~ 7 F F K F v (mg/L) <0.0001

(mg/L.)
7 + vl R 7 ) K (mg/L) <0.0001
A4 X ¥ 7 v 7 y K (mg/L) <0.0001
A 7 = v 7 N (mg/L) <0.0001
7 7 = 7 >/ — JL (mg/L) <0.0001
= 7 Z = N 2 (mg/L) <0.0001
7 g A g 7 5y I R (mg/L) <0.00001
7 = < 2 JL (mg/L) <0.0001
~ v ~ ¥ VA > N (mg/L) <0.0002
an W+ = N (mg/L) <0.00005
A b~ 7 J = — JL (mg/L) <0.0001
(mg/L.)

7 v X Z )b =S A F )L (mg/L) <0.0001
7 A b~ J N (mg/L) <0.0001
A + ~ N 7 7 K (mg/L) <0.0001
A4 ~ Y A 7 wa v (mg/L) <0.0001
vy = . S J = N P (mg/L) <0.0001
- N ¥ ¥ A A 7 v v (mg/L) <0.0001
- K ~ N B = N (mg/L) <0.0001
T A A . )% (mg/L) <0.0001
7 X VA R % (mg/L) <0.0001
¥ ¥ v kK v F = F (mg/L) <0.0001
7 mi 7 7 = 2 NG (mg/L) <0.0001
sy v 2~ 7 = ) ¥ K (mg/L.) <0.0001
7 v v X — )L ¥ A F )L (TCTP) (mg/L) <0.0001
J v v ¥ U ks AR A F (mg/L) <0.0001
Y 7 m 7 = v F F v (ECP) (mg/L) <0.00005
% 7 = A % N (mg/1.) <0.0001
2/ A = S P/ = (mg/L) <0.0001
T J A JL 7 = N (mg/L) <0.0001
4 J ya 7 =7 N (mg/L) <0.0001
Yy 7 = J a F J = )L (mg/L) <0.0001
Y 7 )L VD~ S = B2 (mg/L) <0.0001
DA - - . % (mg/L) <0.0001
v -7 = v = JL (mg/L) <0.0001
D4 A = A v — % (mg/L) <0.0001
Y A F L E v K A (mg/L) <0.0001
¥ A = ~ L — k (mg/L.) <0.00001
> 7 7 ) F Tz (mg/L) <0.0001
D4 v A 7 i N (mg/L) <0.0001
7 7 7 = - ) N (mg/L) <0.0001
7 7 A b X VA N (mg/L) <0.0001
7 7 JV va 2 K (mg/1.) <0.0001
> F 7 7 v L ¥ v & A (CVMP) (mg/L) <0.0001
> 5 3 > Y — (mg/L) <0.0001
7 7 7 - J D4 K (mg/L) <0.0001




2 KK KEHRA
[1] FRAEEZ—&N
(2) B Ol F R
@ R OKEBKJER)

£ 7K H R4.4.5 R4.5.11 R4.6.7 R4.7.5 R4.8.3 R4.9.6 R4.10.4 R4.11.9 R4.12.6 R5.1.18 R5.2.8 R5.3.7 S OUN B/ SLH
PN e kil = = = i i ] £ = = = [l - - -
= =) (C) 16.0 17.5 15.2 25.0 29.0 28.6 22.2 14.0 7.8 5.5 7.0 15.1 29.0 5.5 16.9
7k =] (C) 15.5 18.0 19.0 23.0 25.0 22.5 22.0 18.0 15.8 13.0 13.5 13.0 25.0 13.0 18.2
— i Al (1mLH) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
PN 1 (MPN/100mL) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
HEIT AKX ZEOIREWY (mg/L) — — <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 <0.0003 <0.0003 <0.0003
KB K O 2 o {8 & W (mg/L) — — <0.00005 — — <0.00005 — — <0.00005 — — <0.00005 <0.00005 <0.00005 <0.00005
L Kk N E O E W (mg/L.) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
th kK O o b & W (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
tE F K O 2 O b A& W (mg/L) — — 0.002 — — 0.002 — — 0.002 — — 0.002 0.002 0.002 0.002
AN Ofi o v A b A W (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
i fid fig: fe = E3 (mg/L) — — <0.004 — — <0.004 — — <0.004 — — <0.004 <0.004 <0.004 <0.004
T oAb AF v Rk Oy T v (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
i MR RE 2R K VR R MR RE B R (mg/L) — — 0.56 — — 0.58 — — 0.52 — — 0.52 0.58 0.52 0.55
7 v F K WY E O A& W (mg/L) — — <0.08 — — <0.08 — — <0.08 — — <0.08 <0.08 <0.08 <0.08
v F K O E O AW (mg/L) — — 0.07 — — 0.07 — — 0.08 — — 0.08 0.08 0.07 0.08
Py i) 1t 7% e (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
1,4 4 %+ oS a N (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
VA-1,2-v/anTF L R ORI A
12- ¥ 7 m g x F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
Y 7 n = I A (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
F N % Z/ mowu = F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
KU /7 B owm o x F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
~ v + N (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
i) F [i73 (mg/L) <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06
7 = = W fig (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
7 = = 7R JL UA (mg/L) — — 0.0001 — — 0.0001 — — 0.0001 — — 0.0001 0.0001 0.0001 0.0001
v 4 = = e fig: (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
Y 7 v T 7 o oua A H o (mg/L) — — 0.0005 — — 0.0006 — — 0.0005 — — 0.0004 0.0006 0.0004 0.0005
B = i3 (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
2 S N ) N = S S - Y2 (mg/L) — — 0.0012 — — 0.0014 — — 0.0013 — — 0.0011 0.0014 0.0011 0.0013
N A = = I (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
7 v £ ¥V J nowu A K v (mg/L) — — 0.0003 — — 0.0004 — — 0.0003 — — 0.0003 0.0004 0.0003 0.0003
7 = E Z JL A (mg/L.) — — 0.0002 — — 0.0003 — — 0.0003 — — 0.0002 0.0003 0.0002 0.0003
R A . 2 A (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
oM & O F o b A W (mg/L) — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005 <0.005
TNI=g LR OZ0IlEW (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
% kK O o b A& W (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
M &k O = O b A& W (mg/1.) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
T I AR ORYZEONAEDY (mg/L) — — 13 — — 13 — — 14 — — 13 14 13 13
~ v H kD E O E W (mg/L) — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005 <0.005
i) e Y A % N (mg/L) 6.7 7.5 7.8 7.8 7.9 7.8 7.8 7.4 7.2 7.3 7.2 7.2 7.9 6.7 7.5
VAN /A Sy N QT ) (mg/L) — — 110 — — 110 — — 120 — — 110 120 110 113
75 s Jbs e i (mg/1) — — 207 — — 211 — — 206 — — 214 214 206 210
e A4 F v K om & M A (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
DA - 7 A 3 N (mg/L) — — <0.000001 — — — — — — — — — — — <0.000001
2- A F ) A4V K I R I — b (mg/L) — — <0.000001 — — — — — — — — — — — <0.000001
¥ A4 A Fom & M A (mg/L) — — <0.005 — <0.005 — — <0.005 — — <0.005 <0.005 <0.005 <0.005
7 - J — JL FH (mg/L.) — — <0.0005 — — <0.0005 — — <0.0005 — — <0.0005 <0.0005 <0.0005 <0.0005
AW (2 A KR % TOC 0 &) (mg/L) <0.1 0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 0.1 <0.1 0.1 0.1 0.1 0.1 <0.1
D H il 7.5 7.5 7.4 7.4 7.5 7.4 7.4 7.4 7.4 7.4 7.5 7.4 7.5 7.4 7.4
S AL AL B B L HHERL AL AL L AL AL Bl — — BERL
B X L HERL FHERL FHERL HERL B FEIL AL L L B L — — L
=) = () <0.5 <0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
V) 3 (%) <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
% H oy F# (mg/L.) 0.3 0.3 0.3 0.2 0.2 0.3 0.3 0.3 0.4 0.3 0.3 0.3 0.4 0.2 0.3

A OAWTEEE (B <0.0001) 1%, AR (E & FERIECRIE) Tho7Z&a Rl ThET,
NAT () IE REDOEMEATREZREH THY, T D B AE LT 282 RLTHET,




2 WKBEOKEHRA
[1] FiRAKEEZ—E N
(2) B OlF R
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£ K H R4.4.5 R4.5.11 R4.6.7 R4.7.5 R4.8.3 R4.9.6 R4.10.4 R4.11.9 R4.12.6 R5.1.18 R5.2.8 R5.3.7 K SN N

T TFEUCRERRXZEONREWY (mg/L) — — <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 <0.0003 <0.0003 <0.0003
v 7 v kO ZE O A W (mg/L) — — <0.0002 — — <0.0002 — — <0.0002 — — <0.0002 <0.0002 <0.0002 <0.0002
= r vk OE O AW (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
12- ¥ 7 ©m v = X v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
k JL - N (mg/L) — — <0.0001 — — <0.0001 — — 0.0002 — — <0.0001 0.0002 <0.0001 <0.0001
THNVER Y (2-=F )L ~F L) (mg/L) — — <0.001 — — — — — — — — — — — <0.001
il oy F [i73 (mg/L) — — <0.06 — — <0.06 — — <0.06 — — <0.06 <0.06 <0.06 <0.06
Y s m w7 kK =KUY L (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
Y, A= .~ (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
IS E R G| — — <0.001 — — — — — — — — — — — <0.001
g it % 74 (mg/L) — — 4.0 — — — — — — — — — - — 4.0
L,I- Y 7 o omw x X v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
AF b —t- 7 F )L = —F )L (MTBE) (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
B O W E (T O N ) <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
@ g (7 7 U T i ) — — -0.8 — — — — — — — — — — — -0.8
e & g # il (ImLH") 12 19 22 50 83 19 35 12 12 6 6 7 83 6 24
11- ¥ 7 g8 n = 5 L » (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
NVT VAR F Ay AN K R (PFOS) K O

NSV T VA u ks A v B (PFOA) (mg/L) — — <0.000005 — — — — — — — — — — — <0.000005
o3 = P EE il MPN/100mL) — — — — — — — — — — — — — — —
b % 8 B F B Rk = (mg/L) — — — — — — — — — — — — — — —
£ ok TR OB FEOE K& (mg/L) — — — — — — — — — — — — — — —
S 1% [i73 ES (mg/L) — — — — — — — — — — — — — — —
e = # (mg/L) — — — — — — — — — — — — — — —
4 ), v (mg/L) — — — — — — — — — — — — — — —
. S S S B (mg/L) — — — — — — — — — — — — — — —
b fit PE & (mg/L) — — — — — — — — — — — — — — —
v - JL S 2 (MPN/L) — — — — — — — — — — — — — — —
it & 12 3 il (MPN/L) — — — — — — — — — — — — — — —
#OOME M O fH O ER MPN/100mL.) — — — — — — — — — — — — — — —
7 v ®F = T B = H# (mg/L) — — — — — — — — — — — — — — —
71 % T v VA (mg/L) — — 29 — — — — — — — — — — — 29
~ 7 B v v IN (mg/L) — — 8.5 — — — — — — — — — — — 8.5
fiit 4 A 7 v (mg/L) — — 48 — — 47 — — 49 — — 49 49 47 48
DA S GRS (mg/L) — — - — — - — — - — — - — — —
AN - N S-S A - (mg/L) — — — — — — — — — — — — — — —
w7 v ) (mg/L) — — 74 — — — — — — — — — — — 74
5 X I i e (mS/m) 26.8 26.3 28.1 28.0 27.9 27.8 28.3 29.2 29.2 29.2 29.3 28.8 29.3 26.3 28.2

R RO EECT (B_<0.0001) 13 AR GE R I REELRI) Clo7om 25 R COET
AT (), BREDRMESTTREAE A Coh, 20 BICHRE & AT DAt o e 2L RLCOET,
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£ 7K H R4.6.7

=4 ~ = A A (mg/L) <0.000005
=4 5 7 = = JL (mg/L) <0.0001
| A A S S A S (mg/L) <0.00001
v )R =k (BT L — k) (mg/L) <0.0001
vy K 7 = v F F v (mg/L.) <0.00001
= ) -7 7 7 JL -7 (mg/L) <0.0001
= H X H > (mg/L) <0.0001
7 ~ - = = I (mg/L) <0.000005
7 x = bk v F F v (MEP) (mg/L) <0.0001
7 = ) 7 H ) 7 (BPMO) (mg/L) <0.0001
7 - i UA >V N (mg/L) <0.0001
7 = v F F v (MPP) (mg/L) <0.00005
7 = v b = — b (PAP) (mg/L) <0.00005
7 . v ~ Z ¥ I F (mg/L) <0.0001
7 A 7 A K (mg/L) <0.0001
7 v J = — JL (mg/L) <0.0001
7 b N Z A (mg/L) <0.0001
7 7 7 - % N (mg/L) <0.0001
7 % 7 D4 a A (mg/L) <0.0001
7 v F 7 7 m  — ) (mg/1.) <0.0001
7 = D4 2 N v (mg/L) <0.0001
A = F %+ 7 2 (mg/L) <0.00001
7 v ¥ a F = )L (mg/L) <0.0001
7 = = Vi 2 K (mg/L) <0.0001
- = ~ 5 ' — % (mg/L.) <0.0002
7 = * 7 7 K (mg/L) <0.0001
~ 3 JL (mg/L) <0.0002
~ N 4 7 = N (mg/L) <0.0001
A A A= (mg/L) <0.0001
N ) 7 ey (mg/L) <0.00005
~ N v > N (mg/L) <0.0001
A A G S S B (mg/L) <0.0001
~ v 7 7 i JL 7 (mg/L) <0.0001
N7 5 (R 2a Y ) (mg/L) <0.0001
~ v 7 |2 + — ~ (mg/L) <0.0001
i A F 7 + — ~ (mg/L) <0.00005
~ 7 F F v (= TV ) (mg/L) <0.0001
A a2 7 v v 7  (MCPP) (mg/L) <0.0001
A v D JL (mg/L) <0.0001
A 4 7 X > JL (mg/L.) <0.0001
A F KX F  F v  (DMTP) (mg/L) <0.00001
A X R F = | N (mg/L) <0.0001
A ~ Y 7 % N (mg/L) <0.0001
A 7 - + + > b (mg/L) <0.0001
A - = = I (mg/L) <0.0001
= i x — ~ (mg/L) <0.00005

£ 7K H R4.6.7
13- % "7 ww 7 " v~y (DD (mg/L) <0.0001
2,2-DPA( vl 7 Zi ~ ) (mg/L) <0.0004
2,4-D(2,4-PA) (mg/L) <0.0001
EPN (mg/L) <0.00001
MCPA (mg/L.) <0.00005
7 g E 7 A (mg/L) <0.0001
7 + 7 - — b~ (mg/L) <0.00005
7 ~ 7 D4 N (mg/L) <0.0001
7 = = R 2 (mg/L) <0.00001
7 3 ~ 5 z (mg/L) <0.00005
7 7 J = — JL (mg/L) <0.0001
A V ¥ VA el 7 v (mg/L) <0.00005
A v % - N 7z 2 (mg/L) <0.00001
A4 Y 7 v H 7 (MIPC) (mg/L) <0.0001
A4 Y 7 v F F 7 v (P (mg/1.) <0.0001
£ 7 ° 7 = vV NV A y v (mg/L) <0.00001
A4 7 m X v 5k A (IBP) (mg/L) <0.0001
A N o J 7 7 N (mg/L) <0.00005
- A 7 = Vi % 7 (mg/L) <0.0001
- N 7 = v 7 m v 7 R (mg/L.) <0.0001
TV RANNT g (R V) (mg/L) <0.0001
r x Y Yy v AR v (mg/L) <0.0001
4 X ¥ v # (A ¥ O ) (mg/L) <0.0001
4+ U ¥ X F m B v (mg/L) <0.0001
v 2 VA zD 2 (mg/L) <0.000005
H 7 = v Ak v — )L (mg/1.) <0.00005
7 A i JL ( NAC) (mg/L) <0.0001
v JL ZD 7 7 v (mg/1.) <0.000003
¥ J 7 7 D >~ (ACN) (mg/L) <0.00005
ES ¥ 7 v N (mg/L) <0.0001
7 2 % = N (mg/L) <0.0001
J = A 7 = > 7 (mg/L) <0.0001
7 v ) = k v 7 = » (CNP) (mg/L) <0.000005
J = JL = Y ZD A (mg/L) <0.00001
7 wm m X m = ) (TPN) (mg/L) <0.0001
D4 7 A 4 N (mg/L) <0.00001
e 7 / AR ( CYAP) (mg/L) <0.00001
Y v = N ( DCMU) (mg/L) <0.0001
> 7 2w N = L  (DBN) (mg/L) <0.0001
Y s wm R % (DDVP) (mg/L) <0.00005
CANLFKFI N (ZFALFFALY) (mg/L) <0.00001
Y 7 %+ = JL (mg/L) <0.00005
oo o kK v ST F (mg/L) <0.00005
3 ~ % N (CAT) (mg/L) <0.00001
4 A o A B ) > (mg/L.) <0.0001
D A I =T — B (mg/L.) <0.0001
D4 A b~ J N (mg/L) <0.0001
vl A 7 Y J v (mg/L) <0.00001
Zd A I = N (mg/L) <0.0001
T 7 % = JL (mg/L) <0.0001
A v 7 A (mg/L) <0.0002
T 7 % 7 % 7 (mg/L) <0.0001
F * 7 7 X — K A F (mg/L) <0.0001
I % ~ v Vil JL 7 (mg/L) <0.0001
> 7 Uy gk U F v (mg/L.) <0.00001
> v 7  H v 7  (MBPMC) (mg/L) <0.0001
b~ ) J = =4 JL (mg/L) <0.00005
KUy 7 wm g & v ( DEP ) (mg/L) <0.00005
N A . 2 (mg/L) <0.0001
~ i 7 JV 7 ) > (mg/L) <0.0001
+ A = 23 2 K (mg/L) <0.0001
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U X X B Xy 7 = F L (mg/L) <0.0001
Ky Z7 oL I Y — (mg/L) <0.0001
+ 4 = 7 = J R (mg/L) <0.0001
= A Z = 5 A (mg/L) <0.0001
Ny oom 7 7 = b (mg/L) <0.0001
= A ~ = % N (mg/L) <0.0001
v 5 Y 2R g 7 v v T F ) (mg/L) <0.0001
v U 2 N v X F g (mg/L.) <0.0001
vy kA A F gL (mg/L) <0.0001
7 = A ~ r JL (mg/1.) <0.0001
4 JL 7 4 Z) > ~ (mg/L) <0.0001
7 m % = g ( DCPA) (mg/L) <0.0001
A = I R 2 (mg/L) <0.00001
7 o 8 )L ¥ vk (BPPS) (mg/L) <0.0001
7 v K ¥ A J  (PHO) (mg/L) <0.0001
7 = A b~ U N (mg/L) <0.0001
A S G S B (mg/L) <0.00005
gz & L A (mg/L) <0.00001
R A Vi) ) R (mg/L) <0.0001
E J 4 = ~ R s (mg/L) <0.00001
) = = = Vg (mg/L.) <0.0001

(mg/L)

7 Y X% ¥ 2 Kk v ¥ v (mg/L) <0.0001
- 5 4 7 = Y & A (EDDP) (mg/L.) <0.00005
ThYTT Y — (=AY — ) (mg/L) <0.00001
Vel v 7 = /X 2 N (mg/1.) <0.0001
77 i = 3 v (mg/L) <0.0001
Y 7 o = N (mg/L) <0.0001
2 = L 4 = — JL (mg/L) <0.0001
KLy om ok A A F (mg/L) <0.0001
oNom A )y 7 o onma v A F gL (mg/L) <0.0001
= 7 - J D 7 A (mg/L) <0.0001
vy 7 m X v 7 oz v (mg/L) <0.0001
7 5 ¥ 2 L 7 wm v (mg/L) <0.0001
= Jb [N VA = JL (mg/L) <0.0001
~ N 2 ) R ( SAP) (mg/L) <0.0001
N A ) 7 o\ v A F )L (mg/L) <0.0001
gz + I JL (mg/L) <0.0004
A F o X 4 A m v (mg/L) <0.0001
KL Z gk RAF LA F Y (mg/L) <0.0001
%+ ¥ i Y 7 >/ N (mg/L) <0.0001
J v A F F v = (mg/L) <0.0001
k) 7w -2-T7 hF LT F )L (mg/L) <0.0001
= K = 7 - v (NIP) (mg/L) <0.0001
- = X D v (mg/L) <0.0001
- 4 b = JV Fx = k (mg/L) <0.0001
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EPN % ¥ v N (mg/L) <0.00001
A4 Y ® ¥ F 4 v F F J v (mg/L) <0.00001
A4 Y 7 = v Ik A K X V) v (mg/L) <0.000005
- v K A2 L 7 = — L (mg/L) <0.0001
c N P - 7 I ) Ik (mg/1.) <0.000005
7 v g ¥ U kK A K X v v (mg/L) <0.00001
i A A . A% (mg/L) <0.00001
7 = = btwva FF v F X v (mg/L) <0.00005
MPP 2 JL gz ¥ v K (mg/L) <0.00005
MPP 2 L i N (mg/L) <0.00005
MPP i X >V v (mg/L) <0.00005
MPP #+ % ¥V v X )L K ¥ ¥ R (mg/L) <0.00005
MPP #+ % YV v A JL K v (mg/L) <0.00005
7 X I Kk A X X Vv (mg/L) <0.0001
7 a F O kK A F F Vv (mg/L) <0.00001
7 o ' 7 F K F 7 o * (mg/L) <0.0001
~ 7 F * o F X (mg/L) <0.0001

(mg/L)
7 + vl N 7 J N (mg/L) <0.0001
A4 X X v w7 ) K (mg/1.) <0.0001
A 7 = D 7 N (mg/L) <0.0001
ya 7 = A > — JL (mg/L) <0.0001
=4 =7 J = A 2 (mg/L) <0.0001
- LR JL - 7 N N (mg/L) <0.00001
7 = ~ D JL (mg/L) <0.0001
~ v ~ & A ) N (mg/1.) <0.0002
R A = N (mg/L) <0.00005
A B 7 7 = — JL (mg/L) <0.0001
(mg/L)

7 v X Y T L =S A F L (mg/L) <0.0001
7 A ~ ) N (mg/L) <0.0001
£ + ~ N 4 “® N (mg/L.) <0.0001
A4 ~ Y A L 7 @ v (mg/L) <0.0001
v = = F Y — g P (mg/L) <0.0001
=z +~ % ¥ A B 7 T v (mg/L) <0.0001
at I ~ NG VA = N (mg/L) <0.0001
T A S - . % (mg/L) <0.0001
% X A D JL (mg/L) <0.0001
X ¥ v Kk v S T F (mg/L) <0.0001
Z = 7 7 = % N (mg/L.) <0.0001
sy v < 7 = ) ¥ K (mg/L) <0.0001
7w b 2 — )L ¥ A F jL (TCTP) (mg/L) <0.0001
7 ow L ¥ U Gk A X F g (mg/L) <0.0001
Y 7 ma 7 = v F F v (ECP) (mg/L) <0.00005
4 7 = A D4 N (mg/L.) <0.0001
> ry v oA 7 oow oy (mg/L) <0.0001
D4 / A JL 7 = N (mg/L) <0.0001
D4 / 7 7 7 N (mg/L) <0.0001
Yy 7 = /) @  F = ) (mg/L) <0.0001
A S S = SN (mg/L) <0.0001
Yy 7 wa a  F = ) (mg/L) <0.0001
D4 - = D = I (mg/L) <0.0001
3 A = A > — JL (mg/L) <0.0001
Y A F ) B VA (mg/L) <0.0001
% A = ~ |2 — ~ (mg/L.) <0.00001
A A A A A (mg/L) <0.0001
v v A 7 ) N (mg/L) <0.0001
7 7 7 = 7 J R (mg/L) <0.0001
7 7 A ~ X A A (mg/L) <0.0001
I 7 JL VA N N (mg/L) <0.0001
F N F Z v L ¥ ik & (CVMP) (mg/L) <0.0001
> & 7 = (mg/L) <0.0001
T 7 7 - J X N (mg/L) <0.0001




